N =

O & AP & & A

A

SN AED
Hu: repe)
el 2Asae (649l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F oK Ofl At ot Hws2
A= 481,766 1,262,670 A780,904
= 75,000
Al 406,766
=eipe 309, 150 362,982 153,832
= 75,000
Al 234,150
Az 159, 150 254,802 195,652
A=22e (XHH) 86,470 109,720 123,250
201 Y2y 70,850 71,100 A250
01 AL 22/t 65,850 65,850 0
O g 62,250
—ASNLRHBLLE 58,250
21510} 33,0002 %2501 8,250
AE2 Al 200,0002 +25021 50,000
—A=PY YPY PY 10,0002 %105 1,000
—SJI5s @ AS0AHL 3,000
osg+g 2,100
—2A=9AE B9 BAHLY
70,0002 +10% +33] 2,100
ouxe 1,500
—25t Y EYASE HI 1,500
02 T2l 5,000 5,250 A250
OZZ22 % HA 5,000
—ASSUF B NHIA RBE 5,000
202 01l 14,120 12,120 2,000
01 =L otHl 14,120 12,120 2,000
OSHAEZS NS 3,000
OABANLLHY NTH 2,000
O=Uj01H| 9,120
206 T2l 1,000 0 1,000
01 MEZHI 1,000 0 1,000
O2Y % 25t AZS AN HETY 1,000
405 RH&HE S| 500 6,500 £6,000
01 XtarUSZH S| 500 6,500 6,000
OCIXE Jtolah(10H) 500
Tsxepel (A 72,680 52,680 20,000
201 Y2 Y| 1,680 1,680 0
01 Attt 1,680 1,680 0
os2g+g 1,680
—TESFUANY ARV HELY
70,0002 +8 % *13] 560




A A=
HH: meipp
ol A=z (et & 2
= X XH Ctol (o (=] o HASZ OH X‘—-IL‘EL‘:— =2}t
—2UMARIRE B0 EASD
70,0003 «8H »23] 1,120
g2 =a| 1,000 1,000 0
ANME=UHRFEY 1,000 1,000 0
OdAd=A & & HEX 23 1,000
elztxt=01d 70,000 50,000 20,000
Qb= L 70,000 50,000 20,000
OssF8Ha ! 70,000
sHE=HEZ KA 150,000 108, 180 41,820
= 75,000
Al 75,000
BIEEHI(EX) 100,000 56,000 44,000
s 50,000
Al 50,000
elztXt=01d 100,000 56,000 44,000
< 50,000
Al 50,000
Qb= L 100,000 56,000 44,000
OsEREFEHI(EN, =4)60S 100,000
—=d0l&E XS 2,000,000 40 80,000
< 40,000
Al 40,000
—JIEX S 1,000,000& x20= 20,000
< 10,000
Al 10,000
CEEYYSHOEXNSHE(ER) 50,000 0 50,000
= 25,000
Al 25,000
gl2ti=0l & 50,000 0 50,000
= 25,000
Al 25,000
gztt=E L 50,000 0 50,000
Ok==¢ % =di0IE XSHE
5,000,000& *10= 50,000
= 25,000
Al 25,000
SAIE2 108,560 825,980 AT17,420
CADI 2 108,560 825,980 AT17,420
Zons2el(XHH) 108,560 825,980 NT17,420
2ot 10,560 10,980 A420
01 AtS2t2iHl 560 980 A420
Oo=2g=¢ 560




SA ASD
H: T AEd
©el: ZADI2EY (et &
. _ - MEo
SN -3H - S2A(2AH) - NRAY - BE= Ofl &4 Ol Ak O Blusz
—=SZNE oA 39 HAE
70,0003 «4H »23] 560
02 83224l 10,000 10,000 0
OAEEHI =Xl 10,000
—SAZNE HAAIE FX2c] 10,000
206 M= Hl 2,000 22,000 220,000
01 M=4l 2,000 22,000 A20,000
Osg&ns #) M2 2,000
301 Let2a= 6,000 4,000 2,000
10 HAIAHIE A S 1,000 4,000 /3,000
O=s2Z0g M us 4L 243
0,000& x50 12 1,000
12 JIet2d =3 5,000 0 5,000
O0tstE Z1= Ald 5,000
401 AIEHIZ 20U 60,000 789,000 AT729,000
01 Al£Hl 60,000 785,000 AT725,000
OB =2 HAAAE WM, A& (3HA) 30,000
OZAICI Rt e! 30,000
403 XXM SA=01H 30,000 0 30,000
02 SJIZSOICHeCHE AL 30,000 0 30,000
O=galil=s FHIYX AMEX 30,000
HH2IZHI(AED) 64,056 61,779 2,217
el 2| 4,200 4,200 0
oA HHI(XHAI) 4,200 4,200 0
203 ¥R =&l 4,200 4,200 0
04 EAN2IHRFAH 4,200 4,200 0
OFAM2SgE=AH 350,000& 12 4,200
Jl=34l 59,856 57,579 2,277
Jl2Z I (XA 59,856 57,579 2,277
201 2Bt 15,816 14,539 1,277
01 AtR2teldl 15,816 14,539 1,277
OfAMed Jl=gdl 15,816
202 044 44,040 43,040 1,000
01 =LHOHI 44,040 43,040 1,000
O=Ua0tl 44,040




